ANOVAS

Copy relevant brik files from master_briks into new path for ANOVA analysis

Path: 
RESULTS_DIRECTORY_FROM_DITKA/ANOVAs/LaLa_vs_Other_Gene2xSite2_eachEmo

Open Matlab & cd into one of 4 analysis directories, into briks (e.g. angry_subliminal/briks)

GroupAna
Groups analysis for volume or surface data (0 - volume; 1 - surface)? 0 (volume) 
How many factors? 4 (because includes subject as a factor)
Choose design type (1, 2, 3, 4, 5): 5  (4-way ANOVA type 5: CXD(AXB), A = gene, B = site, C = emotion, D random =subject)
Is the design balanced? (1 - Yes; 0 - No) 0 (because unequal group sizes)
Does your unbalanced design belong to either of the above types? (1 - Yes; 0 - No) 1

Label for No. 1 factor: Gene
How many levels does factor A (Gene) have? 2
Label for No. 1 level of factor A (Gene) is: LaLa
Label for No. 2 level of factor A (Gene) is: Other

Label for No. 2 factor: Site
How many levels does factor B (Site) have? 2
Label for No. 1 level of factor B (Site) is: SU
Label for No. 2 level of factor B (Site) is: NIH

Label for No. 3 factor: Emotion
How many levels does factor B (Emotion) have? 2
Label for No. 1 level of factor B (Emotion) is: Angry
Label for No. 2 level of factor B (Emotion) is: Neutral

Label for No. 4 factor: Subject

How many levels does factor D (Subject) corresponding to level 1 (LaLa) of factor A (Gene) and level 1 (SU) of factor B (Site) have? 9
Label for No. 1 level of factor D (Subject) in group 1 of factor A (Gene) and group 1 of factor B (Site) is: 
sub1
sub2
sub3
sub4
sub5
sub6
sub7
sub8
sub9

How many levels does factor D (Subject) corresponding to level 1 (LaLa) of factor A (Gene) and level 2 (NIH) of factor B (Site) have? 3
Label for No. 1 level of factor D (Subject) in group 1 of factor A (Gene) and group 2 of factor B (Site) is: 
sub1
sub2
sub3

How many levels does factor D (Subject) corresponding to level 2 (Other) of factor A (Gene) and level 1 (SU) of factor B (Site) have? 27
Label for No. 1 level of factor D (Subject) in group 2 of factor A (Gene) and group 1 of factor B (Site) is: 
sub1
sub2
sub3
sub4
sub5
sub6
sub7
sub8
sub9
sub10
sub11
sub12
sub13
sub14
sub15
sub16
sub17
sub18
sub19
sub20
sub21
sub22
sub23
sub24
sub25
sub26
sub27

How many levels does factor D (Subject) corresponding to level 2 (Other) of factor A (Gene) and level 2 (NIH) of factor B (Site) have? 14
Label for No. 1 level of factor D (Subject) in group 2 of factor A (Gene) and group 2 of factor B (Site) is: 
sub1
sub2
sub3
sub4
sub5
sub6
sub7
sub8
sub9
sub10
sub11
sub12
sub13
sub14

Enter the sample size (number of observations) per combination: 1


All input files are supposed to contain only one subbrik.

There should be totally 106 input files. 
Correct? (1 - Yes; 0 - No) 1

(1) factor combination:
	factor A (Gene) at level LaLa
	factor B (Site) at level SU 
	factor C (Emotion) at level angry
	at subject 00002 
is: 
(paste in from xls the angsub, then the neutsub files – columns P & R.
……

Output file name (in bucket format): ANOVA-LaLa_ANGSUB_Gene2xSite2xEachEmot
Any contrast test (1 - Yes, 0 - No)? 1

How many 1st-order contrasts? (0 if none) 3

Label for 1st order contrast No. 1 is: GeneCont
How many terms are involved in this contrast? 2
Factor index for No. 1 term is (e.g., 0020): 1000
Corresponding coefficient (e.g., 1 or -1): 1
Factor index for No. 2 term is (e.g., 0020): 1000
Corresponding coefficient (e.g., 1 or -1): -1

Label for 1st order contrast No. 2 is: SiteCont
How many terms are involved in this contrast? 2
Factor index for No. 1 term is (e.g., 0020): 0100
Corresponding coefficient (e.g., 1 or -1): 1
Factor index for No. 2 term is (e.g., 0020): 0100
Corresponding coefficient (e.g., 1 or -1): -1

Label for 1st order contrast No. 3 is: EmotionCont
How many terms are involved in this contrast? 2
Factor index for No. 1 term is (e.g., 0020): 0010
Corresponding coefficient (e.g., 1 or -1): 1
Factor index for No. 2 term is (e.g., 0020): 0010
Corresponding coefficient (e.g., 1 or -1): -1
Done with 1st order contrast information.

2nd order contrasts have 2 factor(s) collapsed.

Notice: Contrasts for random factor are NOT feasible.

How many 2nd-order contrasts? (0 if none) 0
Done with 2nd order contrast information.

3rd order contrasts have 1 factor(s) collapsed.

Notice: Contrasts for random factor are NOT feasible.

How many 3rd-order contrasts? (0 if none) 0

Then it will compute. Process takes 3-4 minutes.
Copy the results BRIK up one directory into supraliminal
CONTRAST RESULTS: Since these are specified as gene 1 > gene 2 (or LaLa > Other) then a positive effect and t-stat would mean LaLa > Other. Converseley, a negative t-stat would reflect Other > LaLa.

GM Mask the results
>> 3dcalc -a ‘ANOVA-LaLa_ANGSUB_Gene2xSite2xEachEmot+tlrc’ -b  ‘GreyMatterMask_rs+tlrc’ -expr '(a*b)' -prefix ANOVA-LaLa_ANGSUB_Gene2xSite2xEachEmot_GM_mask

Follow up T Tests

Path: /Documents/POST_DOC/PINE_STUDY/RESULTS_DIRECTORY_FROM_DITKA/ANOVAs/LaLa_vs_Other_Gene2xSite2_eachEmo/Follow_up_T-tests

Results are 2 minus 1 so positive values reflect neut > emotion


GM Mask the results
>> 3dcalc -a ‘angsub_v_neutsub_all_N53+tlrc’ -b  ‘GreyMatterMask_rs+tlrc’ -expr '(a*b)' -prefix angsub_v_neutsub_all_N53_GM_mask
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